

11/04/2022

Vendor Ranking

Page 1 of 1

04221104 Letting:

November 04, 2022 10:30

AM

Contract:

E4V90-R0

District: District 4 Counties: BROWARD

Call Order: 003

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43978027201 (*)

Contract Desc: BROWARD COUNTY MISC ROAD CONCRETE - ROUTINE MAINTENANCE

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	LEON AMERICA CONSTRUCTION	Responsive	Winning bid	\$385,195.00	100.00%
2	HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES LLC	Responsive	Non-Winning Bid	\$717,590.00	186.29%
3	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$739,276.00	191.92%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$823,140.41	213.69%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE: END DATE:

11/29/22 12/02/22 **BEGIN TIME END TIME**

10:30 AM 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$500,000.00 and not the contractors bid total



11/04/2022

Tabulation of Bids

Letting: 04221104 November 04, 2022 **Call Order:** 003 **Contract:** E4V90-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 43978027201 (*)

Contract Descr: BROWARD COUNTY MISC ROAD CONCRETE - ROUTINE MAINTENANCE

The work under this Contract consists of refurbishing and/or upgrading sidewalk and various concrete structures to meet current standards. Construct, refurbish, repair, or upgrade curb and gutter, concrete driveways, concrete barrier walls, curb inlets, public sidewalk curb ramps, and other concrete-related appurtenances as directed by the Engineer along the State Highway System in Broward County.

MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$500,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project

BUSINESS DEVELOPMENT INITIATIVE: Bidders must be a Small Business as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project s major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the File Attachment Upload folder in the AASHTOWare Project Bids application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier s Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

Page 1 of 6



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 0-	4221104	November 04,	2022 Ca	II Order: 003		Contract:	E4V90-R0	
	No / Item ID	Alternate	Quantity Units	(1) LEON . CONSTR		(2) HIGHSTYLE & CONSTRUCT	ION SERVICES		ANGLER CTION INC.
() ind	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	.C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MANUAL) (TN				
0005 REMOV	0110 4 10 /AL OF EXIST	ING CONCRET	6,000.000 E SY	19.00000	114,000.00	15.00000	90,000.00	11.00000	66,000.00
0010 BORRO MEASU	0120 2 2 DW EXCAVATI JRE	ON, TRUCK	5.000 CY	10.00000	50.00	200.00000	1,000.00	200.00000	1,000.00
0015 MISCEL	0339 1 LLANEOUS AS	SPHALT PAVEN	2.000 MENT TN	100.00000	200.00	500.00000	1,000.00	200.00000	400.00
	0415 1 6 DRCING STEE LLANEOUS	L-	300.000 LB	10.00000	3,000.00	100.00000	30,000.00	2.00000	600.00
0025 INLET 1 INLET 1		REINFORCED	4.000 EA	1,000.00000	4,000.00	1,000.00000	4,000.00	5,454.00000	21,816.00
0030 CONCF	0520 1 10 RETE CURB &	GUTTER, TYP	600.000 E F LF	28.00000	16,800.00	65.00000	39,000.00	30.00000	18,000.00
0035 CONCF	0520 2 4 RETE CURB, T	YPE D	60.000 LF	15.00000	900.00	65.00000	3,900.00	38.00000	2,280.00
	0522 1 RETE SIDEWA WAYS, 4" THIC		5,500.000 SY	25.00000	137,500.00	60.00000	330,000.00	64.00000	352,000.00
	0522 2 RETE SIDEWA WAYS, 6" THIC		3,300.000 SY	30.00000	99,000.00	60.00000	198,000.00	77.00000	254,100.00





Tabulation of Bids

Page 3 of 6

Letting:	04221104	November 04,	2022 Ca l	I Order: 003		Contract:	E4V90-R0	
	o / Item ID Alterr	nate Quantity Units	(1) LEON A		(2) HIGHSTYLE & CONSTRUCT	ION SERVICES		ANGLER CTION INC.
	ates item is bid as Lump Sເ		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT REI	PAIR (MANUAL) (TN				
	0527 2 ABLE WARNINGS	250.000 SF	18.00000	4,500.00	60.00000	15,000.00	28.00000	7,000.00
	E101 72 ATION (EMERGENCY SE)	6,000 EA	600.00000	3,600.00	500.00000	3,000.00	1,500.00000	9,000.00
	E521 1 TE BARRIER WALL REI	10.000 PAIR CY	100.00000	1,000.00	150.00000	1,500.00	550.00000	5,500.00
	E575 1 4 6, ST AUGUSTINE	50.000 SY	4.50000	225.00	7.00000	350.00	10.00000	500.00
0070 E SODDING	E575 1 8 6, BAHIA	120.000 SY	3.50000	420.00	7.00000	840.00	9.00000	1,080.00
0	0001 ASPHALT REPAIR (MANUAL) (TN			\$385,195 . 00		\$717,590.00 [°]		\$739,276.00
	Contract	Grand Totals:		\$385,195.00		\$717,590.00		739,276.00



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

 		E 1) (00 D0

Lettin	g : 0	4221104	November 04,	2022 Ca l	II Order: 003		Contract:	E4V90-R0	
	Line No / Item ID Alternate Quantity Item Description Units		(4) ROGAR MA CONSULTING	OF FLORIDA					
() in	dicates item is b	id as Lump Sum		Unit Price LL	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT RE	PAIR (MANUAL) ('	TN				
0005 REMO\	0110 4 10 /AL OF EXIST	ING CONCRET	6,000.000 E SY	0.01000	60.00				
0010 BORRO MEASU	0120 2 2 DW EXCAVATI JRE	ION, TRUCK	5.000 CY	0.01000	0.05				
0015 MISCEL	0339 1 LLANEOUS AS	SPHALT PAVEI	2.000 MENT TN	491.00000	982.00				
	0415 1 6 DRCING STEE LLANEOUS	EL-	300.000 LB	29.00000	8,700.00				
0025 INLET T		REINFORCED	4.000 EA	1,601.00000	6,404.00				
0030 CONCF	0520 1 10 RETE CURB &	GUTTER, TYP	600.000 E F LF	15.00000	9,000.00				
0035 CONCF	0520 2 4 RETE CURB, T	TYPE D	60.000 LF	15.00000	900.00				
	0522 1 RETE SIDEWA WAYS, 4" THIC		5,500.000 SY	89.01000	489,555.00				
	0522 2 RETE SIDEWA WAYS, 6" THIO		3,300.000 SY	91.01000	300,333.00				





Tabulation of Bids

Page 5 of 6

Letting : 04221104	lovember 04,	2022 Call	Order: 003		Contract:	E4V90-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) ROGAR MAN CONSULTING C	F FLORIDA				
() indicates item is bid as Lump Sum		Unit Price LLC	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ASPHALT REI	PAIR (MANUAL) (TI	N				
0050 0527 2 DETECTABLE WARNINGS	250.000 SF	21.01000	5,252.50				
0055 E101 72 MOBILIZATION (EMERGENCY RESPONSE)	6.000 EA	0.01000	0.06				
0060 E521 1 CONCRETE BARRIER WALL REPAIR	10.000 CY	0.01000	0.10				
0065 E575 1 4 SODDING, ST AUGUSTINE	50.000 SY	16.01000	800.50				
0070 E575 1 8 SODDING, BAHIA	120.000 SY	9.61000	1,153.20				
0001 ASPHALT REPAIR Se	ction Totals:		\$823,140.41				

(MANUAL) (TN)

Contract Grand Totals: \$823,140.41



11/04/2022

Tabulation of Bids

Page 6 of 6

Letting: 04221104

November 04, 2022

Call Order: 003

Contract:

E4V90-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.